MP Board 12th English Paper 2024 with answer key

The MP Board 12th English paper 2024 with the answer key is shared in this
section. Students can cross-check their Responses with the MP Board 12th
Answer Key 2024 to predict their results.

Section A

Questions:

(i) The brain shifts when something dangerous
happens.

(a) gears

(b) mind

(c) nose

(d) cars

Answer: (a) gears

(i

(a
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Ears, tongue and fingers collect only.
collection

(b) information

(c)Production

(d) Inspiration

Answer: (b) information
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iii) The inform the brain that carbon dioxide is rising in Joe's
Blood.

(a) nose

(b) ears

(c) brain

(d) sensors

Answer:(d) sensors

(iv) Which among these is the adjective form of 'information
(a) informative

(b) inform

(c) informably

(d) informing

Answer: (a) informative



(v) In thousands of such ways | baby Joe" Here 'baby' means:
(a) elder

(b)Children

(c) young animal

(d)Joe's Brain

Answer: (a) elder

(vi) The brain requires of the oxygen he inhales.
(a) 2 per cent

(b) 10 per cent

(c) 20 per cent

(d) 30 per cent

Answer: (c) 20 per cent

(vii) Give the verb form of 'contraction’'.
(a) contractor

(b) contract

(c) contribution

(4) contributor

Answer:

(viii) Who is 'I' in the passage?
(a) Joe

(b)Joe's brain

(c) Joe's nose

(ix) The weight

(d) Joe's ears

Answer: (b)Joe's brain

(ix) The weight of the brain is
(a) Half Kg

(b) 1 kg

(c) 1.5kg

(d) 2 kg

Answer: (c) 1.5 kg

(x) Joe's brain is Joe's:
(a) personality



(b)Reactions

(c) mental capacity

(d) All of these

Answer: (d) All of these

SECTION- C (Grammar)

Fill in the blanks choosing the correct option: cany five)
(i) I know he isill.

(a) who

(b) that
)
)

(e) which
(d) where

Answer:(b) that

(i

(a

N—

We keep our bread in the fridge it doesn't go bad.
after

(b) so that

(e) since

(d) although

Answer:(b) so that

N— N N

(iif) How milk do you buy daily"

Answer:(d) much.

(iv) Indian youth is full hope for the bright future of the country
(a) of

(b) for

(c) at
(d)on

Answer:(a) of

(v) Mohan speak two languages.
(a) need




(b) dare
(c) can
(d) used to

Answer:(c) can

(vi) man who wrote this book is my friend.

No article
Answer:(c) The

7 Do as directed: (any five)
(i) My friend sent me a letter.
(change the voice)

Answer: The letter is sent by my friend.

(ii) As soon as | met my friend. | started weeping.
(Rewrite the sentence using "No sooner....than")

Answer: No sooner did | meet my friend than | started weeping.

(iif) You can catch the bus if you take a taxi.
(Rewrite using unless in place of "if")

Answer: You can't catch the bus unless you take a taxi.

(iv) He had his lunch.
(Change into 'past perfect tense)

Answer: He has taken his launch.

(v) (@) She did not talk to me.
(b) She did not look at me.
(Combine the sentences using 'neither....nor")

Answer:Neither she talk to me nor did she look at me



(vi) You have how much experience/ got?
(Rearrange the words and make a sentence)

Answer: How much experience have you got?

(vii) The tea is so hot that | can't drink it.
(Rewrite the sentence using 'too....to")

Answer: The tea is too hot to drink.
Section D
8(A) Questions:

(i) The poetess is coming from
(a) Cochin

(b) her parent's home

(c) airport

(d) Delhi

Answer: (b) her parent's home

(i) The word 'corpse" means
(a) father

(b) a body part

(c) parents -

(d) dead body

Answer: (d) dead body

(iif) Name the poet
(a) Kamla Das

(b) Pablo Neruda
(c) John Keats

(d) Robert Frost

Answer: (a) Kamla Das

8(B) Questions:



(i) The chief astrologer placed his finger:
(a) on his mouth

(b) on his head

(c) on his nose

(d) on his leg

Answer: (c) on his nose

(i) How many days old is the baby when he opens his lips in speech?
(a) ten days

(b) twenty days.

(c) thirty days

(d) forty days

Answer:(a) ten days

(iii) The prince was born

(a) in the hour of the bull

(b) in the hour of the tiger

(c) in the hour of the Bull and the Tiger
(d) all of these

Answer:(a) in the hour of the bull

(iv) From which lesson this extract has been taken?
(a) The Third level

(b) The Enemy

(c) The Tiger King

(d) On the Face of It

Answer: (c) The Tiger King
15. Passage Questions:

(i) How many delegates were there in the annual convention of the Indian
National Congress Party?

(a) 2,301

(c) 2,500

(b) 2.401

(d) 2.600

Answer: (a) 2,301

(i) When did Rajkumar Shukla meet Gandhi?
(a) in 1916



(h)in 1917
(c) in 1942
(d) in 1947

Answer: (a) in 1916

(iii) Give the similar meaning of the word 'peasant':
(a) visitor

(b) traveller

(c) convener

(d) farmer

Answer: (d) farmer

(iv) Champaran is situated:
(a) in Sevagram

(b) In Lucknow

(c) near Nepal

(d) near Sri Lanka

Answer: (c) near Nepal

(v) From which lesson this extract has been taken?
(a) The Last Lesson

(b) Indigo

(c) The Interview

(d) Going Places

Answer: (b) Indigo



